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1-1 BAEEAH 05K, BH 10 KMEHEE, REER.
7 AMEAREHEEENSR VHREX V=3.14*R+*R+H

Program smpola (input, output);
const '
pi=3.14159;

var

.

H: integer;

R, V: real;
begin

H: =10

R: =0.5;

V: =pi* sqr(r)*h
end.

1-2 EASZRBEGN-ITEEEHEESRAOZTH,

program smpolb (input, output);

const \
pi=3.14159;

var
H: integer;
R, V: real;

begin

¢ readln(H); '

V: =pi*sqr(r)*h

HHEEA B &R &R,
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1-3 @A EEENEENE, HEEHER, BEHLHEER.
program smpoic (input, ottput); <~ T
 const : :
pi=3.14159 ;
var
H: integer; '
R, V: real; - - - = BRIt
begin
rcadln(H);
recadin(R);
V: =pi*sqr(r)* h;
writeln(V=, V)
end .

' input:
10
0.5
output :
V=17.853750E+00
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1-4 BHAHIE ax+b=0, MAEH afib, R—T—XFEHMK X,

program ctloic(input, output);
Var
a, b: integer;
X: real;
begin
 readln(a, b);
ifa<>0
then X: =-b /a
else writeln(error in input data!)
end .

input:
5 -100
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output :

input:

0 1000

output :

error in input data'!

program ctlold(input, output);
var
a, b: integer ;
x: real,
begin :
readln(a, b); ' , L
if a<'>0 S D 1
then B S TP PR S
beéin v L. - Cgabnry
X: ==b/a;
wntcln(" Kis f-’x": g+ 2) A
end & '
else writeln(’ error in input  datal /)
end.,

input:

5-1000

output :

x=-200.00

input:

0 1000

output :

error in input data!

1-6 MA—TEBY, E%ﬁiﬁﬁﬂiﬁ&ﬁ)\&ﬁﬂ’]ﬁﬁﬁiimmgﬁn
HOEHBRAOXRT.

program cthZa(input, output );
var H

week : integer;

begin -

veliruise




readln (week );

case week of

0: writeln (“ sunday ’);
1: writeln (‘'monday ’);
2: writeln(tuesday ’);
3: writeln(“wednesday *);
4: writeln("thursday ’);
5. writeln(’friday ");

6: writéln(’saturday N,

end
end
. input: output :
2 tuesday
6 saturday
0 sunday

1-7 BA—xXIHFHIE ax 2+bx +c =b, ¥ANa b, ¢/, BRET
R R EH B HARHIR.

- program ct103a (input, output);
var '
a, b; ¢, d, k: integer; .
re, im: real;
begin
readln(a, b, ¢ );
" if (a=0)and (b=0)and (c=0)
then k: =0,
if (a=0)and(b=0)and (c<>0)
“then k: = 1;
if (a=0)and (b<>0)
then k: =2; R
if (a<>0)and (c=0)
then K: =3;
if (@a<>0)and(c<>0)
then :
begin .
d: =sqr(b)-4*a*c;



re: =—b/(2%a); v
im: =sqrt(abs(d))/(2* a);: -

if d=0
" thenk: =4;
if d>0 “
then k: =5
if d<0
thenk: =6
end,
casc k of
0: writeln(’error on input !);
1: writeln(unso lvable! *);
2: writeln('root is’, —c/b; 6: 2);
3: writeln('roots  are/, <b/ a; 6: 2. ‘and 0.0 Ged
4: writeln(both roots are’s_zes, 6 .2~ S
5. : SR 5o
begin SRRETIE T,
writeln (‘roots are/, (re+im): 6: 2);
writeln (. and’, (re—im)6: 2)
end; )
6: |
begin
. writeln (‘roots are complex: ’);
l writeln (7, re: 6: 2, +i*’, im: 4: 2);
writeln (‘and’, re: 6: 2, '—i*’, im: 4: 2)
end
end
end.
input: R output
000 error in input !
007 unsolvable!
0102 . root is —0.20
230 roots:are—~1.50 and 0.0 .
200 roots are —0.00 and 0.0
121 both roots are —1.00 : : =

156 roots are —2.00
' and —3.00




111 roots are compex:
—0.50+i = 0.87
and —0.50-i * 0.87

1-8 ATETHR, ANRER"RME ax 2+bx+c=0 AIIR.

program ¢t . 103b(input, output);
var- .

a, b, ¢, d: integer; 8

re, im: real;

begin
readln (a, b, ¢);
if a=0 '
then
if b=0
then
if c=o

then writeln(’error in input! /)
else writeln(‘unsolvable! )
else writeln (‘rootis’s —c / b:6:2) clse
if ¢=0
then writeln(‘roots are/, =b/a: 6: 2, ‘and 0.0)
clse
K begin ,
d: sqlr(tﬁ-4 *a%c;
re: =-b /(2 +a);
im: =sqrt(abs(d))/ (2 * a);
Cifd=o "
then writeln('both roots are/, re: 6: 2)
clse
if d>0 SR
then
begin . v
writeln(‘roots  are/, (re+im): . 6 2);
writeln(’  and/, (re—im)ﬁ::-‘z)
end \ '
clse
begin
writeln(’roots are complex: );



writeln(’ /, re: 6: 2+1*/, im: 4: 2);
writeln(’and’, re: 6: 2, 1%/, im: 4: 2)

end;
end .
end.

input ‘ : output:
000 *  errorin input!
007 unsolvablel
0102 roots is —0.20
230 .y . toots- are—1.50and 0.0 . -
200 . T _roots” - are ~0.00.and 0.0 - - - .., -
121 both roots are —1.00
156 " roots are—2.00

‘ .. ,and-3.00
m roots are complex:

o ~0.50+i * 0.87

‘and —0.50—i * 0.87

-9 BA—ARE, HEHBUKTHR. EXENTFERER R,

k program ct 104a(input, output);
label

; 10;

var

X, y: real;
begin
rcadln(x);
ifx<0
then
begin

; , writeln(‘cannot solve!’);
s goto 10

end .
Y: =sqri(x);
writeln('y=", y: 6: 2} .. . - . - Lt
10:
end.




input:
9.
output:
y=3.00
input:
-9
output:

!

cannot solvel!
i : \’;

110 EFRETERRENTH, HEMBFHE. SRAOFHS
2R, HEABLHE. BEEAATELML I NAER,

OG T s e
L program ct 105(input, output); 0.5 v
const 6.5 b
p= 17, . ‘ . x‘j‘:.}'r;'mh:: 318 2307
var l
i; integer;
c: char;
begin o
iz =0; readln;
read(c);
while c< >p do
begin
i: =itl
read(c)
end
writeln(’1=",1:2)
end.
input: input: input:
abcde? 76541321 7abed
output: output: output:
i=5 i=4 i=0
1-11 EFRETLRSERAATEY WHHEERETNONY
t‘ ' REEHY A ER"IEN).
4 " program ct 106a(input,output);
const | ‘ '
— 8 —




h=6;
var ' -
i,n,sum:integer;
average:real;
begin '
n:=0; sum:=0;
repeat
read(i):
sum:=sum-+i;
n:=n+‘{.' e

untii n=h;

arerage:sum / h;

writeln(’sum is’,sum:5);

writgln(’ average is’,average:5:2)
end.

input: o ' IR
output: Sa
sum is 21

average is 3.50

1-12 @AADEY, HHHBHENOINYETHHE YIER").

program ct 106b(input,output);
coust

h=6;
var

i,n,sum:iﬁtcger;
average:real;
begin
whilen<hdo
begin P
read(l);
sum: = sum-i; B
n:=n+l1
end;
average:=sum / h; e
writeln(’ sun is’,sum:5);

a-.—vgm-




writeln(“average is’,average:5:2)
end.

input:
123456
output:

sum is 21
average is 3.50

1-13  HWARDEN, -»m#mm"emmwwm “WRER).
program ct 106c(mput output), : L
const
h=6;
, var
" i,n,sum:integer;
average:real;
- average:real;
begin
form:=1 to hdo
begin
read(1);
sum: = sumﬂ
end; e
average:sum / h
writeln(/ sum is’,sum:5);
writeln(’average is’,average:5:2)
end.

input:
123456
output:

sum is 21
average is 3.50

1~14 FIJ 1980 5EF5HN 100 FiT, iHRIEEKEN 5%, HHE
4N 1985 48, 1990 ££, 1995 4, 2000 fERY{A.

program ct 107(output);
var

- 10—
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Y:integer;
v,rireal; {
begin .
v:=100.0;r: = 0.05;
Y:=1980;
wiiteln(1980 years JOOOBY oy 13- ¢ 0 L T
for y: = 1981 to 2000 do :
begin
v:=v» (l141);
if ymod5=0
then writeln(y:4, year?,v:8:2)
end
end.

output: 4 . . .
1980 year:100,00 - L eined
1985.ycar:127,63 ' dlvpg Y
1990 year:162.89 |
- 1995 year:207.89
2000 year:265.33

| 1-15 RHEFREL 2, 4 2, 7 2 SERBAN 20055 1),

program ct 108 (output);
var
i,y:integer; .
begin -
writeln('i’:5,’y’:10);
for i:=1t020do’ , ‘ ANt
begin , - o Y _
y:sqr(i); : ‘
wrtela(ES, e M- B e 0 T e
ir=1i+2 ’ '
end

end.
« S ,ﬁ‘
output:
4 16 E

7 49




10 100 B
13 169 e
16 256
19 361 ey L

1—16  WHEAEH12 42 72 eeene | T RBKH 20055 D,

program ct  1080(output);
var ' | Gy
i,y:integer; ' ’ RS : '
begin - (L6 v e
writeln('17:5,/ Y’:10); ‘
fori:=1t020do
if (-1)MOD 3=0
then ’ |
begin . : RO
'i:=sqr(l); . » Eagi
writeln(1:5, Y:10) 08.Ca1
end ERY S LA
end. s Anfergoy OG0T
~output: e
1 Y
11 \ e e
4 16
7 49 . g
10 100 ‘ T
13 169 DR ST IR
16 256 rOloii=n o
19 361 ’

1—-17 RHUEFWMHL 2, 42,7 2 -------Eﬁlﬁ%ﬁm&mw

program ct108a (output);

w o
iy k:integer;
begin ) vl
writeln(’k’:5,’Y":10); ‘ i
k:=1; ' b ‘
-— 12

: "



for i:t=1 to 7 do

begin
y:sqr(k);
writeln(k:5,y:10);
ki=k+3 SRR R
end
end.
output:
k Y
 DACHE AN T
7 49 C e e
10 100 : :
13 169 7L e o clluaiea gusegulin
16 . 256 o ' .
19 361

1—-18 SBHUEARH-K A—AREORR. TREADT:

¢« 1 2 3 4 5 6 1 8 9
S :
2 2 4
3 3 6 9
-4 4 8 16
5 5 10 25
6 6 12 eseees 36
7 7 14 . 49 _
8 8 16 : 64
9 9 18 27 36 45 54 6372 81
" program ct 109(output);
var
1,j,p:intcger;
begin

writcIn(’_* :4,” ":4);
for it=1to9 do writeln (1:4);
for i:=11to2do writcin;
for ir=1to9do

begin




